1 [20 points]
Draw a UML class diagram that represents the following description as precisely and completely as possible. Include: attributes, associations, and multiplicities.

“A credit card account has a number, and a credit line. Each credit card account belongs to a party. A party has a name and an address, and can be either a person or an organization. Each credit card account can have one or more credit cards. Each credit card has a number, and an expiration date. Each credit card account may contain a number of transactions; each transaction has a date, an amount, and an originating organization. A transaction may have an authorization; each authorization was done by an employee at a certain date, and contains an explanation string.”
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